

**THE EXACT VALUES FOR THE COEFFICIENT OF
ASYMPTOTIC EXPANSIONS
OF THE FUNCTION'S DEVIATION FROM THEIR
POISSON INTEGRAL ON THE HOLDER'S CLASS**

I. V. KALCHUK, A. O. ZADOROZHNYI, R. O. MAKOVIJ

vettgam@gmail.com

When approximating the functions from class H^1 there appear the asymptotic expansions, whose coefficients are not expressed in explicit form. This problem has been solved by the instrumentality of Riemann zeta-function, which gives us the possibility to find the exact values of Kolmogorov–Nikolskiy constants. The program that allows us to find the constants of given infinitesimal order has been developed.

Harmonic and Biharmonic Poisson Integral as method of Fourier series summation. Let $f(x)$ be 2π -periodic Lebesgue summable function and

$$\frac{a_0}{2} + \sum_{k=1}^{\infty} (a_k \cos kx + b_k \sin kx) \quad (1)$$

its Fourier Series. Let also $\Lambda = \{\lambda_\rho(k)\}$ – the set of functions of positive integer argument $\rho \in E_\Lambda \subset R$, such that $\lambda_\rho(0) = 1$.

Each function $f(x)$, whose assumption expansion in Fourier series represents with (1), we will associate with the series

$$\frac{a_0}{2} + \sum_{k=1}^{\infty} \lambda_\rho(k)(a_k \cos kx + b_k \sin kx). \quad (2)$$

In case that (2) for every $\rho \in E_\Lambda$ is the Fourier series of the certain continuous function, we will denote it as $U_\rho(f; x; \Lambda)$, and say that the set $\Lambda = \{\lambda_\rho(k)\}$ determines the sequence of operators $U_\rho(f; x; \Lambda)$.

When substituting in (2) the value of coefficients a_k и b_k , we will find that

$$\begin{aligned} U_\rho(f; x; \Lambda) &= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x+t) \left(\frac{1}{2} + \sum_{k=1}^{\infty} \lambda_\rho(k) \cos kt \right) dt = \\ &= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x+t) K(\rho; t) dt, \end{aligned} \quad (3)$$

where $K(\rho; t) = \frac{1}{2} + \sum_{k=1}^{\infty} \lambda_\rho(k) \cos kt$ – the kernel of operator $U_\rho(f; x; \Lambda)$.

Assuming that in (3) $\lambda_\rho(k) = \rho^k$, $0 \leq \rho < 1$, we will get

$$U_\rho(f; x; \Lambda) = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x+t) K_1(\rho; t) dt =: P_\rho(f; x), \quad (4)$$

$$K_1(\rho; t) = \frac{1}{2} + \sum_{k=1}^{\infty} \rho^k \cos kt = \frac{1 - \rho^2}{2(\rho^2 - 2\rho \cos t + 1)},$$

and when $\lambda_\rho(k) = \left(1 + \frac{k}{2}(1 - \rho^2)\right) \rho^k$, $0 \leq \rho < 1$, then

$$U_\rho(f; x; \Lambda) = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x+t) K_2(\rho; t) dt =: B_\rho(f; x), \quad (5)$$

$$K_2(\rho; t) = \frac{1}{2} + \sum_{k=1}^{\infty} \left(1 + \frac{k}{2}(1 - \rho^2)\right) \rho^k \cos kt = \frac{(1 - \rho^2)^2 (1 - \rho \cos t)}{2(\rho^2 - 2\rho \cos t + 1)^2}.$$

The expressions (4) и (5) are referred as Harmonic [1–4] and Biharmonic [5–8] Poisson Integral f respectively.

The approximation of functions of Holder's class. Let C be the space of 2π -periodic functions, in which we define norm as following

$$\|f\|_C = \max_t |f(t)|.$$

The class of functions $f \in C$, for which holds

$$|f(x+h) - f(x)| \leq |h|.$$

we will call the Holder's class of order 1. We will denote this class as H^1 .

The problem for finding the asymptotic equalities for the value

$$\mathcal{E}(\mathfrak{M}; U_\rho(\Lambda))_C = \sup_{f \in \mathfrak{M}} \|f(x) - U_\rho(f; x; \Lambda)\|_C,$$

where $\mathfrak{M} \subseteq C$ – class of functions that is given, $U_\rho(f; x; \Lambda)$ – the operators (3), we will call, according to A.I. Stepanetz [9], Kolmogorov–Nikolskiy problem. In our case we will consider two values: $\mathcal{E}(H^1; P_\rho)_C$ and $\mathcal{E}(H^1; B_\rho)_C$, which correspond to the values of divergence harmonic and biharmonic Poisson Integral from the function at class H^1 . In case that the function $g(\rho) = g(\mathfrak{M}, \rho)$ such that $\rho \rightarrow 1 - 0$

$$\mathcal{E}(\mathfrak{M}; U_\rho(\Lambda))_C = g(\rho) + o(g(\rho)),$$

has been found, then we will say, that the Kolmogorov–Nikolskiy problem has been solved for the operator $U_\rho(f; x; \Lambda)$ at class \mathfrak{M} in the metric space C .

The formal expansion $\sum_{n=0}^{\infty} g_n(\rho)$ is called the asymptotic expansion for the function $f(\rho)$ when $\rho \rightarrow 1 - 0$, if for every positive integer N

$$f(\rho) = \sum_{n=0}^N g_n(\rho) + o(g_N(\rho)), \quad \rho \rightarrow 1 - 0,$$

and for all $n \in \mathbb{N}$

$$|g_{n+1}(\rho)| = o(|g_n(\rho)|).$$

Briefly, we will denote this as following

$$f(\rho) \cong \sum_{n=0}^{\infty} g_n(\rho).$$

The question about the investigation of the approximative properties of Poisson's Integral remain to be urgent for many mathematicians.

For instance, E.L.Stark in the work [2] established, that

$$\mathcal{E}(H^1; P_\rho)_C = \frac{2}{\pi} \sum_{k=1}^{\infty} \left\{ \frac{1}{k} (1-\rho)^k \ln \frac{1}{1-\rho} + \beta_k (1-\rho)^k \right\}, \quad \rho \rightarrow 1-0,$$

$$\beta_k = \frac{1}{k} \left\{ \ln 2 + \frac{1}{k} - \sum_{j=1}^{k-1} \frac{2^{-j}}{j} \right\}, \quad k = 1, 2, \dots$$

In the works [6] and [7] independent of each other the following result was established:

$$\mathcal{E}(H^1; B_\rho)_C = \frac{2}{\pi} (1-\rho) + \frac{2}{\pi} (1-\rho)^2 \ln \frac{1}{1-\rho} + \frac{1+2\ln 2}{\pi} (1-\rho)^2 +$$

$$+ \frac{2}{\pi} \sum_{k=3}^{\infty} \left\{ \frac{1}{k} (1-\rho)^k \ln \frac{1}{1-\rho} + \gamma_k (1-\rho)^k \right\}, \quad \rho \rightarrow 1-0,$$

$$\gamma_k = \frac{1}{k} \left(\ln 2 + \frac{1}{k} - \sum_{j=1}^{k-1} \frac{2^{-j}}{j} \right) - \frac{1}{(k-2)(k-1)2^{k-1}}.$$

The asymptotic expansion for the value $\mathcal{E}(H^1; P_\rho)_C$ in powers of $\frac{1}{\delta}$ ($\delta = -\frac{1}{\ln \rho}$) was found by V.A.Baskakov [3]

$$\begin{aligned} \mathcal{E}(H^1; P_\delta)_C \cong & \frac{2}{\pi} \left\{ \frac{1}{\delta} \ln \delta + \frac{1}{\delta} \left[\ln \pi + \int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^2} dt \right] \right\} + \\ & + \frac{2}{\pi} \sum_{k=1}^{\infty} (-1)^k \left[\int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^{2(k+1)}} dt - \frac{1}{2k\pi^{2k}} \right] \frac{1}{\delta^{2k+1}}, \end{aligned} \quad (6)$$

where under the symbol $(t)_{2\pi}$ we mean even 2π -periodic extension of the function $\varphi(t) = t$, $0 \leq t \leq \pi$.

The asymptotic expansion that is formulated either in the terms of $\frac{1}{\delta}$, and $(1-\rho)$, was established in the works [8] by Amanov.T.I and Falaleev

L.P., namely that $\delta \rightarrow \infty$ ($\rho \rightarrow 1-$)

$$\begin{aligned}
& \mathcal{E}(H^1; B_\rho)_C = \\
& = \frac{1-\rho^2}{\pi} \left\{ 1 + \sum_{k=1}^{\infty} (-1)^{k+1} \left[2k \int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^{2k+2}} dt - \frac{1}{\pi^{2k}} \right] \frac{1}{\delta^{2k}} \right\} + \\
& \quad + \left(\frac{2}{\pi} \frac{1}{\delta} - \frac{1-\rho^2}{\pi} \right) \left\{ \int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^2} dt + \ln \delta + \ln \pi + \right. \\
& \quad \left. + \sum_{k=1}^{\infty} (-1)^{k+1} \left(\frac{1}{2k\pi^{2k}} - \int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^{2k+2}} dt \right) \frac{1}{\delta^{2k}} \right\}. \tag{7}
\end{aligned}$$

In the obtained expansions (6) and (7) the coefficients in which appears 2π -periodic extension $\varphi(t) = t$ were unknown yet.

In the current work the expressions for $\int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^{2(k+1)}} dt$ were found, namely we got that:

$$\begin{aligned}
& \int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^{2(k+1)}} dt = \sum_{i=1}^{\infty} \int_{(2i-1)\pi}^{2i\pi} \frac{2i\pi - t}{t^{2(k+1)}} dt + \sum_{i=1}^{\infty} \int_{2i\pi}^{(2i+1)\pi} \frac{t - 2i\pi}{t^{2(k+1)}} dt = \\
& = \sum_{i=1}^{\infty} \left(-\frac{2i\pi}{2k+1} \frac{1}{t^{2k+1}} + \frac{1}{2k} \frac{1}{t^{2k}} \right) \Big|_{(2i-1)\pi}^{2i\pi} + \\
& + \\
& \quad \sum_{i=1}^{\infty} \left(-\frac{1}{2k} \frac{1}{t^{2k}} + \frac{2i\pi}{2k+1} \frac{1}{t^{2k+1}} \right) \Big|_{2i\pi}^{(2i+1)\pi} = \\
& = \sum_{i=1}^{\infty} \frac{2i}{(2k+1)\pi^{2k}} \left[\frac{1}{(2i-1)^{2k+1}} - \frac{2}{(2i)^{2k+1}} + \frac{1}{(2i+1)^{2k+1}} \right] + \\
& \quad + \sum_{i=1}^{\infty} \frac{1}{2k\pi^{2k}} \left[\frac{2}{(2i)^{2k}} - \frac{1}{(2i-1)^{2k}} - \frac{1}{(2i+1)^{2k}} \right]. \tag{8}
\end{aligned}$$

For the further transformation we will use Riemann–Zeta function [10]

$$\zeta(z) = \sum_{s=1}^{\infty} \frac{1}{s^z} \tag{9}$$

and the equality (9.535) [10]

$$\sum_{i=1}^{\infty} \frac{1}{(2i-1)^{2k}} = \zeta(2k) - 2^{-2k} \zeta(2k). \tag{10}$$

Then we get

$$\sum_{i=1}^{\infty} \frac{2i}{2k+1} \left[\frac{1}{(2i-1)^{2k+1}} + \frac{1}{(2i+1)^{2k+1}} \right] =$$

$$\begin{aligned}
&= \frac{1}{2k+1} \sum_{i=1}^{\infty} (2i-1+1) \left[\frac{1}{(2i-1)^{2k+1}} + \frac{1}{(2i+1)^{2k+1}} \right] = \\
&= \frac{1}{2k+1} \sum_{i=1}^{\infty} \left[\frac{1}{(2i-1)^{2k}} + \frac{2i-1}{(2i+1)^{2k+1}} + \frac{1}{(2i-1)^{2k+1}} + \frac{1}{(2i+1)^{2k+1}} \right] = \\
&= \frac{1}{2k+1} \sum_{i=1}^{\infty} \left[\frac{1}{(2i-1)^{2k}} + \frac{1}{(2i+1)^{2k}} + \frac{1}{(2i-1)^{2k+1}} - \frac{1}{(2i+1)^{2k+1}} \right] = \\
&= \frac{1}{2k+1} \left(\sum_{i=1}^{\infty} \left[\frac{1}{(2i-1)^{2k}} + \frac{1}{(2i+1)^{2k}} \right] + 1 \right) = \\
&= \frac{1}{2k+1} \left(2 \sum_{i=1}^{\infty} \frac{1}{(2i-1)^{2k}} \right) = \frac{2}{2k+1} (\zeta(2k) - 2^{-2k} \zeta(2k)), \quad (11)
\end{aligned}$$

$$\frac{1}{2k} \sum_{i=1}^{\infty} \left(\frac{1}{(2i-1)^{2k}} - 1 \right) = \frac{1}{2k} (\zeta(2k) - 2^{-2k} \zeta(2k) - 1). \quad (12)$$

Using (9), (10) and substituting (11), (12) in (8), we get

$$\begin{aligned}
&\int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^{2(k+1)}} dt = \frac{2}{(2k+1) \pi^{2k}} \left(\zeta(2k) - 2^{-2k} \zeta(2k) - \frac{1}{2^{2k}} \zeta(2k) \right) + \\
&+ \frac{1}{2k \pi^{2k}} \left(2 \cdot \frac{1}{2^{2k}} \zeta(2k) - \zeta(2k) + 2^{-2k} \zeta(2k) - \zeta(2k) + 2^{-2k} \zeta(2k) + 1 \right) = \\
&= \frac{2}{(2k+1) \pi^{2k}} \zeta(2k) [1 - 2^{-2k+1}] + \frac{2}{2k \pi^{2k}} \zeta(2k) [2^{-2k+1} - 1] + \frac{1}{2k \pi^{2k}} = \\
&= \frac{2}{\pi^{2k}} \zeta(2k) [1 - 2^{-2k+1}] \left(\frac{1}{2k+1} - \frac{1}{2k} \right) + \frac{1}{2k \pi^{2k}} = \\
&= \frac{1}{2k \pi^{2k}} - \frac{2 \zeta(2k)}{\pi^{2k}} \frac{1 - 2^{-2k+1}}{2k(2k+1)}. \quad (13)
\end{aligned}$$

On case that $k = 0$ we find

$$\begin{aligned}
&\int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^2} dt = \sum_{i=1}^{\infty} \int_{(2i-1)\pi}^{2i\pi} \frac{2i\pi - t}{t^2} dt + \sum_{i=1}^{\infty} \int_{2i\pi}^{(2i+1)\pi} \frac{t - 2i\pi}{t^2} dt = \\
&= \sum_{i=1}^{\infty} \left(-\frac{2i\pi}{t} - \ln t \right) \Big|_{(2i-1)\pi}^{2i\pi} + \sum_{i=1}^{\infty} \left(\ln t + \frac{2i\pi}{t} \right) \Big|_{2i\pi}^{(2i+1)\pi} =
\end{aligned}$$

$$\begin{aligned}
&= -2 + \sum_{i=1}^{\infty} \left(\frac{2i}{2i-1} + \frac{2i}{2i+1} \right) + \sum_{i=1}^{\infty} \ln \frac{(2i-1)(2i-1)}{2i \cdot 2i} = \\
&= 1 + \sum_{i=1}^{\infty} \ln \left(1 - \frac{1}{(2i)^2} \right) = 1 + \ln \prod_{i=1}^{\infty} \left(1 - \frac{1}{(2i)^2} \right).
\end{aligned}$$

Considering that the (0.262.2) [10] takes place

$$\prod_{k=1}^{\infty} \left(1 - \frac{1}{(2k)^2} \right) = \frac{2}{\pi},$$

we will have

$$\int_{\pi}^{\infty} \frac{(t)_{2\pi}}{t^2} dt = 1 + \ln \frac{2}{\pi}. \quad (14)$$

Using (13) and (14) with (6) and (7) we will have correspondingly

$$\begin{aligned}
\mathcal{E}(H^1; P_{\rho})_C &\cong \frac{2}{\pi} \left\{ \frac{1}{\delta} \ln \delta + \frac{1}{\delta} [1 + \ln 2] \right\} + \\
&+ \frac{4}{\pi} \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{\pi^{2k}} \zeta(2k) \frac{1 - 2^{-2k+1}}{2k(2k+1)} \frac{1}{\delta^{2k+1}}, \quad (15)
\end{aligned}$$

$$\begin{aligned}
\mathcal{E}(H^1; B_{\rho})_C &\cong \frac{1 - \rho^2}{\pi} \left\{ 1 + 2 \sum_{k=1}^{\infty} \frac{(-1)^k}{\pi^{2k}} \zeta(2k) \frac{1 - 2^{-2k+1}}{2k+1} \frac{1}{\delta^{2k}} \right\} + \\
&+ \left(\frac{2}{\pi} d^{\frac{1}{\delta}} - \frac{1 - \rho^2}{\pi} \right) \left\{ 1 + \ln 2 + \ln \delta + 2 \sum_{k=1}^{\infty} \frac{(-1)^k}{\pi^{2k}} \zeta(2k) \frac{1 - 2^{-2k+1}}{2k+1} \frac{1}{\delta^{2k}} \right\}, \quad (16)
\end{aligned}$$

where $\zeta(2k)$ – Riemann–Zeta function, that is defined by (9).

In order to have a possibility of finding the values of the coefficients of the extensions for the values $\mathcal{E}(H^1; P_{\rho})_C$ и $\mathcal{E}(H^1; B_{\rho})_C$ by the powers of $\frac{1}{\delta}$ the application was developed.

The application was made in Visual C# 2008. We give the fragment of the source code of the program's main part below.

```

using System;
using System.Collections.Generic;
using System.Text;
namespace VApp
{
public static class CMath
{
// alpha

```

```

// infiniteSmall – порядок малости
public static double CalcHarm(double alpha, int
infiniteSmall)
{
double result = 0;
switch (infiniteSmall)
{
case 1:
if (alpha == 1)
result = (2 / Math.PI);
else
result = (1 / Math.Cos(alpha * Math.PI / 2));
break;
case 2:
if (alpha == 1)
result = Math.Log(??)+1;
else
result = 2 / Math.PI * (Math.Log(2 * Math.E /
Math.Pow(Math.PI, 2)) - 1 / ((1 - alpha) *
Math.Pow(Math.PI, 1 - alpha)));
break;
default:
if (alpha ==1)
if (infiniteSmall % 2 == 0)
{
result = 2 / Math.PI * common_calc1(infiniteSmall - 2);
}
else
{
result = -2 / Math.PI * common_calc1(infiniteSmall - 2);
}
else
if (infiniteSmall % 2 == 0)
{
result = 2 / Math.PI * common_calc(alpha, infiniteSmall);
}
else
{
result = -2 / Math.PI * common_calc(alpha,infiniteSmall);
}
}
}

```

```

    }
    break;
    }
    return result;
    }
    public static double CalcBiHarm(double alpha, int
    infiniteSmall)
    {
    double result = 0;
    switch (infiniteSmall)
    {
    case 1:
    if (alpha == 1)
    result = (4 / Math.PI);
    else
    result = (1 - 2 * alpha / Math.PI) /
    Math.Cos(alpha * Math.PI / 2);
    break;
    case 2:
    if (alpha == 1)
    result = (-2 / Math.PI) * (1 + Math.Log(2 * Math.E /
    Math.Pow(Math.PI, 2))) + 2 / Math.PI *
    Math.Log((Math.Pow(Math.PI, 2) / (2 * Math.E)));
    else
    result = 4 / Math.PI * common_calc(alpha, 0);
    break;
    default:
    if (infiniteSmall % 2 == 0)
    {
    if ((infiniteSmall / 2) % 2 == 0)
    {
    // четные
    if (alpha == 1)
    { double lDiv2 = infiniteSmall / 2 ;
    // result = (1/Math.PI)*Math.Pow(4*Math.E/infiniteSmall,
    infiniteSmall/2)* // (1/Math.Sqrt(Math.PI*infiniteSmall)) +
    (1/Math.PI)*summa2p(infiniteSmall) +
    (2/Math.PI)*addition2(infiniteSmall);

```



```

    result = 2 * Math.Pow(-1, lDiv2) *
Math.Pow((2 * Math.E / lDiv2), lDiv2)
* (1 / Math.Sqrt(2 * Math.PI * lDiv2)) + Math.Log(Math.PI) +
1 + 2 / Math.PI + (1 / Math.PI) * summa2p(infiniteSmall) +
(1 / Math.PI) * summa2p_sec(infiniteSmall);
}
else
{
    result = (1 / Math.PI) * summa20p(infiniteSmall, alpha) +
(1 / Math.PI) * summa21p(infiniteSmall, alpha);
}
}
else // нечетные
{
    if (alpha == 1)
    {
        double lDiv2 = infiniteSmall / 2;
        // result = (1 / Math.PI) * Math.Pow(4 * Math.E /
infiniteSmall, infiniteSmall / 2) * (1 / Math.Sqrt(Math.PI *
infiniteSmall)) + (1 / Math.PI) * summa2p(infiniteSmall);
        result = 2 * Math.Pow(-1, lDiv2) * Math.Pow((2 * Math.E /
lDiv2), lDiv2) * (1 / Math.Sqrt(2 * Math.PI * lDiv2)) +
Math.Log(Math.PI) + 1 + 2 / Math.PI + (1 / Math.PI) *
summa2p(infiniteSmall) + (1 / Math.PI) *
summa2p_sec(infiniteSmall);
    }
    else
    {
        result = (1 / Math.PI) * summa20p(infiniteSmall, alpha) +
(1 / Math.PI) * summa21p(infiniteSmall, alpha);
    }
}
}
else
{
    double lDiv2plus1 = infiniteSmall / 2 + 1;
    double comm_expr = Math.Pow(-1, lDiv2plus1) *
Math.Pow((2 * Math.E / lDiv2plus1), lDiv2plus1) *
(1 / Math.Sqrt(2 * Math.PI * lDiv2plus1));

```

```

if (alpha == 1)
{
result = 1 / Math.PI * comm_expr;
}
else
{
result = 1 / Math.Cos(alpha * Math.PI / 2) *
Math.Pow(-1, infiniteSmall / 2 + 1) *
Math.Pow((2 * Math.E / infiniteSmall / 2 + 1),
infiniteSmall / 2 + 1) * (1 / Math.Sqrt(2 * Math.PI *
infiniteSmall / 2 + 1));
}
}
break;
}
return result;
}
private static double zeta(double i)
{
return math_fnc.Math.riemann_zeta(i);
}
private static double summa20np(int n, double alpha)
{
double summ = 0;
for (int k = 0; k <= (n / 4); k++)
{
summ += summa_common20(n, k, alpha);
}
return summ;
}
private static double summa21np(int n, double alpha)
{
double summ = 0;
for (int k = 0; k <= (n / 4); k++)
{
summ += 2 * k * summa_common20(n, k, alpha);
}
return summ;
}
}

```

}
}

So we obtain a method to calculate according to the given order of infinitesimality and to the values (15) and (16) the Kolmogorov-Nikolskiy constants for asymptotic expansions of the expressions $\mathcal{E}(H^1; P_\rho)_C$ and $\mathcal{E}(H^1; B_\rho)_C$.

Список литературы

- [1] Натансон В.П. *О порядке приближения непрерывной 2π -периодической функции при помощи ее интеграла Пуассона* / В. П. Натансон // Докл. АН СССР. 1950. Т. 72, № 1. С. 11–14.
- [2] Штарк Э.Л. Полное асимптотическое разложение для верхней грани уклонения функций из Lip_1 от их сингулярного интеграла Абеля-Пуассона / Э.Л. Штарк // Мат. заметки. 1973. Т. 13, № 1. С. 21–28.
- [3] Баскаков, В.А. О некоторых свойствах операторов типа операторов Абеля-Пуассона / В.А. Баскаков // Мат. Заметки. 1975. Т. 17, № 2. С. 169–180.
- [4] Zhyhallo K. M. Complete Asymptotics of the Deviation of a Class of Differentiable Functions from the Set of Their Harmonic Poisson Integrals / K. M. Zhyhallo, Yu. I. Kharkevych // Ukr. Math. Journal. 2002. Vol. 54, №1. P. 51-63.
- [5] Каниев С. *Об уклонении бигармонических в круге функций от их граничных значений* / С. Каниев // Докл. АН СССР. 1963. Т. 153, № 5. С. 995–998.
- [6] Фалалеев Л.П. *Полное асимптотическое разложение для верхней грани уклонений функций из Lip_1 от одного сингулярного интеграла* / Л.П. Фалалеев // Теоремы вложения и их приложения (Материалы всесоюз. симп.). Алма-Ата: Наука КазССР, 1976. С. 163–167.
- [7] Zhyhallo K.M. *Approximation of Differentiable Periodic Functions by Their Biharmonic Poisson Integrals* / K.M. Zhyhallo, Yu.I. Kharkevych // Ukr. Math. Journal. 2002. Vol. 54, №9. P. 1462–1470.
- [8] Аманов Т.И. *Приближение дифференцируемых функций операторами типа Абеля-Пуассона* / Т.И. Аманов, Л.П. Фалалеев // 5-е советско-чехословацкое совещание по применению методов теории функций и функционального анализа к задачам математической физики. Алма-Ата, 1976, Тр. совещаний. Новосибирск, 1979. С. 13–16.
- [9] Степанец А.И. *Равномерные приближения тригонометрическими полиномами* / А.И. Степанец, Киев : Наук. Думка, 1981. 340 с.
- [10] Градштейн И.С. *Таблицы интегралов, сумм, рядов и произведений* / И.С. Градштейн, И.М. Рыжик. М.: Физматиз, 1963. 1100 с.